111.12.20 #E#H

ﬁ?? §&§4ﬁ4JWhﬂﬁﬂ @%%
FF B ﬁﬁ ‘?‘r‘ 5 B
@'iA %%; o i~
i [ ARy B
NV %
B A *“—‘-ﬂ: ¥ 5, .
M | Dnepgep | FR7ESS i
4v FT [ EP &L
:i d &’e»i% ;}’é’rki,{;}ﬂ“\

PR e “f{—:ttl 13

Aw2borrp Hp 5 B o w2 4 Tk Fopoae | F 0P
(BIp RSB A F N9 -7 Gt £ 1 TR TTPF 22t
2 X |-
1 = 3 p Tz [ P ok
2 |- |-
2 + ? 2 T [ =1
2 X |-
3 # 4 2 T x AR T s

(]9 34 iRer k2 p R A hBER A 0)

it

‘4EfT’jF1" x , ’i—‘g'iﬁl %&B(Q;TP FikT s

. oy S RN
N mIEEER)

A+B+C+D £ 3+ =
AT p 2 REEP 9-10H
0 EE ~/30D/8Hx1* 1/3x (GeFLPEdC) = ~
e B.Lp 2 Waip 11-12H
L BT A /30D/8HX1 % 2/3x ($eFipEd) = ~
Pl CRRIED 1-8HMwm r i s g 4ex)
& ¥ ET 2 /30D/x1x (beF1p ) = ~
| D.RA P (12Hx1x 135 38Hx1 % 273 5 9-12Hx2 % 2/3)
T A/30D/8Hx1* 1/3x2 - pb=___ =
¥EF < /30D/8Hx1 * 2/3x (GeFLpE ) = <
T < /30D/8H*2 % 2/3x (e FLpE ) = ~
Pt (B%) [#Ears (B R) ‘TR R

!

9 ol

1=y

.

N dx**%—%ég@@ 10 ko

PAcrih FAZE 4] REP A ACE 12 PF > &P 2 5046 [ PFL e

FAFAGF RGP RS EP R A 2 e T EL e ik
N j\%\,_%i Eyrndsr AdEE A4 R F@’T# » o
“]Z‘ffir'—,;\ EERE S dod Gt ik o RE f;Jfﬁ GEL
SAILR B - g 7Q.0.0.02.37F % | HFI&FFF | A A2 B e e FIER 5 6] 1T £ 68
P4 3T 3L 3iiie 18:00-20: 00 45T 2 ¥ -

iﬁﬂav@ﬂLé;Fx@w

- &

F LR R AT S i X

43 T.G.1.04.&



